Lecture 22 Derivatives of exponential and logarithm functions. Problem: Suppose * Z person is infected on day 0 * Every day, each infected person infects 2 new people, and then recovers. How many infected people are there on day 3? day 30? day x? Solution day 3: 8. 2 day $\bigcirc \cdot \cdot \cdot \cdot$

umber	of i	rnfect	ecli	5
	30 time	25		
		EM.	day	£,
	• • • • •			xponential
c mode		nd i	naccu	rate
	3 = 1, $3 = 2, 72$ $5 = 2, 72$ $5 = 1, 7$	$3 : 1 \times 2 \times 2$ $30 : 2^{30}$ $2 \times 2 \times 2^{}$ 30 time $f(x) = 2^{\times}$ an example This is obvior model as	$3 : (x 2 \times 2 \times 2)$ $30 : 2^{30} \times 2^{$	$3 : (x2 \times 2 \times 2 = 30)$ $30 : 2^{30} 2 (000)$ $2x2 \times 2 \times 2$ 30 times 30 times $f(x) = 3^{10} \text{ an } day$ $f(x) = 2^{10}$ $an \text{ example } of an e$

Exponential Functions
For b>0,
$f(x) = b^{x}$ is the exponential function.
with base b.
Observations about the exponential
function:
* For 6 large, 6 is
growing quickly
* For $b < 1$, b^{\times} is
decreasing
$For b>1, b^{x} is$
lacreasing.

Basic facts about e	exponentials'
Recall:	
$\star P_{x \neq y} = P_x$	
(e, g) $2^{3+5} = 2$	2325
	zezeses
Today: Derivative e	b f = P x
Let $f(x) = b^{x}$	· · · · · · · · · · · · · · · · · · ·
Then	· · · · · · · · · · · · · · ·
$f'(x) = \lim_{h \to 0} \frac{f(x+h) - f(x+h)}{h}$	
= lim bx + h $h \rightarrow 0$	•••••••••••••••••••••••••••••••••••••••
- lim brbh	$-b_{\times}$
~ 0 h	

L'init law: (bx (br - 1) = lim h->0 $\lim_{h \to 0} 3 g(h)$ 3 ding g(h) b^{\times} lim $\frac{b^{h}-1}{h}$ $= b^{\kappa} \lim_{h \to 0} \frac{b^{h} - b^{0}}{h}$ $f'(x) = P_x \quad f_1(0).$ $f(x) = 5_x$ } $f'(x) = 2^{x} f'(0)$ Using graphing calculator, can estimate $f'(0) \approx 0.69$... $f'(x) = 0.69 - .2^{x}$

Doing some experiments, we see that
× f'(o) is increasing as b increasing
X There's a special value of b where $f'(o)=1$
This is at $b \approx 2.718 = - = e$
Euler's number.
For $f(x) = e^{x}$, $f'(o) = 1$ $f(x) = e^{x}$, $f'(o) = e^{x}$

Example Find derivative of 1) f(x) = 3ex $\mathcal{Z} = e^{3x}$ $\mathbf{F}(\mathbf{x}) = \mathbf{e}^{\mathbf{x}^2}$ (f) f(x) = 5x1) $f'(x) = 3 dx e^{x} = 3 e^{x}$ $2\left|\frac{f'(\kappa)}{\kappa}\right| = e^{3\kappa} \left(\frac{d}{d\kappa} - 3\kappa\right) = e^{3\kappa} \cdot 3$ chair sule $e^{x^2} - 2x$ 3) $f'(x) = e^{x^2} \left(\frac{d}{dx} x^2 \right) =$ (4)-Recall: $(ab)^{c} = a^{bc}$ (1) $Also: e^{ln(\alpha)} = \alpha$ So $f(x) = 2^{x} = (e^{ln(z)})^{x}$ (11)by ii)

 $f(x) = 2^{\chi} = \left(e^{\ln(z)}\right)^{\chi}$ $= e^{l_{n}(z)x}$ pos () - lu(z) ~ 0.69... Same as ex. 2). So $f'(x) = e^{\ln(z)x} \cdot f(\ln(z)\cdot x)$ $= e^{l_1(z)X} l_2(z)$ $= 2^{\times} \cdot l_{n}(z)$ 2 2× 0.69---Check biebsite for notes VI + recordings.

 $f(x) = G_{3x}$ $\int f'(\kappa) = 2$ Need to use chain rule. Recall: ef f(x) = g(h(x))f'(x) = q'(h(x)) h'(x)Chain rule. In our example, f(x) = g(h(x)) $\mathcal{Q}(\kappa) = \mathcal{C}_{\mathcal{K}}$ h(x) = 3xg((h(x)))h'(x)= $e^{3x} - 3$. $\mathcal{F}(X) =$

 $e^{\left(n(z) - X \right)}$ f(x) $f'(x) = e^{(n(z)-x)}$ = ln(z) $g(x) = e^{3x}$ $y'(\varphi) = e^{3x} \cdot 3$